T

Rl —o— (v 71 R LH8)

e it

ES 2 2 4 SV513D SV513T
Mo fa i il 52 G 10101~ 10101~
HOR O R (ZEHRRE) ke 11800 11900
Koy | A OPT | M oA H OB (WESRM) | WML [ é H e il
VU AK | BEEEE AN T A KU Y2 | min? 2200 2200
w—7A KJ > | min! 700 700
( WHKER ) c (82~90) (82~90)
( fEBhHIE ) k¢ (80 ) (80 )
- e kPa — —
(kgf/cm?) « =) =)
Cah R ) C =) =)
(O [AIFREEE ) min™ =) ( )
b2 P Em - AT mm 0. 254 0. 254
- PR mm 0.508 0. 508
ERF D 5AF) (¢ Eil)) ()
5 JE i E T kPa — —
kegf/end)|  ( — ) =)
( WHAKE ) C =) =)
(AR ) min’! =) =)
N
R ORL 2 1B W5t ) 2D kPa — —
SREIE S BRAAIE 71 kegf/em)|  ( — ) =)
wH A E 77 L NRY - A mm — —
(v MFLDT ) N =) =)
(kgf) =) =)
A AT P fE T ATl km/h
GRS - %) 10 10 10
77y FXE | WA TS cm — —
AVFT WD A ha—2 cm — —
AV BAa—7r cm — —
7Ty FE | Xy v EEE kPa — —
F7o A (kgf/cm?) — —
e | TR S KPa - =
(kgf/cm?) - —
(2 v a iR ” =) =)
(o > o [alfiE ) min! =) =)
T opas AN PP Nem — —
DTN A MY BV s (kgf = m) — -
i -
ks 4> Fx— e D mm - -
#* Fo (F == A L2 7)) N =) =)
(kgf) =) =)
HSTH HEIEEE O MPa 42.0 42.0
i NP ENS V) —7%wy NESH (kgf/cm?) (428) (428)
C o) C (50=+5) (50=+5)
WA =NIUE | RA =T Uy T vk N-m 785 785
gAY Kt ks (kgf + m) (80) (80)
S A YRS [(BEHE] kPa 137 137
(kgf/cm?) (1.4) (1.4)
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(I R S B S

FEE#hn—7— (7 K7 208)

£ 7 2 4 SV513D SV513T
WOM & A i bij| = 5 10101~ 10101~
HORE R (ZEHRRE) ke 11800 11900
Xy | A OPT | B oA A (ESRM) | BUI I3 5 Es i il I3 o * it it
Fo/NEREPERR | e/ MEERER T m 5.6 5.6
TI%J kG Y i Jiz
&
g (ST —=2F T | WIEEREO MPa 14.0 14.0
i Uo7k V) —7ky hNED (kgf/cm?) (143) (143)
¢ s ) C (50£5) (50+5)
HET7 V=% |HSTHRHTAT TL—%D HST %47 4 7 |HST % AT 47
La T OB EFR GEd T L—F | (BEE T L —%
e )
ANEIFERD A ha—2 mm — —
BSAZ A ha—2 mm 67 67
UTHEA 241 FE FE — —
i
Tl BhAE A7 [ B BEE ; LAPN ] m 5 5
(GlnEpeE) km/h (10 ) (10 )
[FZ74R]
p RILETA =7 ORI | mm — —
g KT LONE mm — —
TA =T DEE mm — —
Ny T L— M Nem — —
T MR vy ket e m) — —
%
[F 427 2]
F 4RI DEES mm — —
Ny ROJES mm — —
@ FUAIBMATF v b | Nenm — —
KERTT b v (kgf + m) — —
BEHi7 L— | HIEHES (IR JE 11.3 11.3
LA—EX, A1 v T ZA v FK | AL v FK
EITZ DB EFR
L= fbra—7 mm — —
KILETA= 70K | mm
Btk = 2 WAHF R AT hv2 | Nem 108 108
i (kgf - m) an i)
de | EIREEE R MPa 28 28
i VU—7%y MNES (kgf/cn?) (286) (286)
C o E ) K (50+5) (50+5)
e w [ IREhn —F — | IRihn—F —
X IV RT BN | (T RT AR)
V| IR HIVRK
Lo Al =5 g Mo | QSBA.5-4A | QSBA.5-4A
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